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TN HERE = 1 37, 407, 180
LT = 1 591, 419
HRHEI T = 1 152,339 | #EH! 110 m3
Tw FrEidEE
FHIA Ob-27) 110 m3
+1 &850, 000m3ATH ;
T 2V 1 203,310 | P& (LEE) RS+ 100 m3
2. 5mPL 4. OmARTi ;
b 110 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 110 m3
+1 &850, 000m3ATH ;
Rkt A = 1 132,430 | VEmEER (8] 1-50) 100 m2
BRI v+ R O + kit
LRI (B 1350) 100 m2
T i S O I BRI
P v T = 1 103,340 | F&it 1 =
B2 A couE
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
[T 2 1 364, 650
EERABRE T 2 1 364, 650 |LEBARRE (A 5, 000 m2
TEH (CEBARRED 5, 000 m2
LEFEAET 2 1 357, 600
RARBRAR T 2 1 357,600 |{kA (&M (EA) 400 m2
A NS L : %) ;
AR (A 400 m2
%A ;
PRARLEAT 40 m3
XA

TAZIEE LN )R




il
W
>
%
T

TH4 | BT EESMI Y DENHERS T

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
PRARLEAT 40 m3
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FRIE D T = 1 280, 400
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HEEWHE L 2 1 436, 740
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) 1 X
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JEA7 VAL B GERE S Te) ¢60.5 ;
ICEE = 1 15, 606, 940
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K GE2BIH)
SEHN (A b7 SARA =T 7057 MIK)

(233 5, 080 m2
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EREN (N ) UDF+T=Y" 7ARAKH-T 775 MIK)

T - 2 H A 5, 080 m2
GZ1mA)
B (N =7 4—-1-7) & 1000m2Lh b R4 X R

A 2 e 5, 080 m2
(Z2mA)
HESE (N =57 4=5=7) & 1000m2LL L Rt X[

T - 2 H A 5, 080 m2
(G£3mlIH)
BESE (N =57 4=77 =) E 1000m2Lh b ARAEH X
EilS

TR - & A A 5, 080 m2
FEH VT RIED) % 1000m2LL b Ak KA ;
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REEE (=77 707 K) HH
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R HEAE 95 N
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TAY=T0T T AR )N TeT TN

%153 137 i
(BA2EH)
RIARERE60emATH 504 LL b FKA (hvRAZLAl+k)
ANEVEYOAN R

%153 137 i
(BARS[EH)
AT E60cmA M 50ALL F HKA| CHIKHRE &
A

%153 95 N
(EALEH)
EAHE R 60emATH 504 LA b JEH COvFAZLA+7 b
TAY=TRT T ARV =TT TN
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A = 60emATH 504 LA b FEH COvRAZLA+7 b
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EE T 500m2LA |

PR 2, 000 m2
PRARHEE FEARGATEA

s ALER T = 1 8, 775, 200
I AALVERESE T 2 1 8,775,200 |ISAafE 1 X
HEELT = 1 4,818, 880
HRHEI T = 1 1,028,400 |$@H!] 3, 000 m3
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BEARRE AT = 1 220, 680 | B&{A (L) hE 1+ 900 m3
4. 0mPL E
P v T = 1 3,569, 800 | E&H 1 =
A2 A couE
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
EEEET = 1 840, 040
TA7 7 Ml T X 1 353,920 | TfE s (FE - BIE ) 100 m2
BTy r77 RC-40 A VW E 100mm ;
g (I - BIF ) 100 m2
FABRIEET A2/ (20) AHIEE 50mm 1. 4mAST
(184 v S v JE50mmEd T)
av)) -k T X 1 486, 120 | T/E &ML (HE - BRIE ) 100 m2
BTy r77 RC-40 A VW E 100mm ;
2 - M2 100 m2
18-8-40 (& )F) #i%E/Z 150mn ;
HEKHEEY T = 1 1,168,715
e+ T 2 1 206,615 |FRIEY 1 X
+4)
HEL 1 2V
+4)
T wb AT 1 =X
0 CaBl- EHIRY £5Te) ;
e 1 =
B2 A couE
AR T = 1 962, 100 | 7" VEyAMNUBMRNE 100 m
300X 300X 2000 ;
oL 2 1 142, 023
e+ T 2 1 50, 283 |FRYE Y 1 X
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e 1 =
B2 A couE
e L = 1 91,740 |HREEEERT ny) 10 m
CHE (180,/210 X 300 X 600) ;
HEE L = 1 488, 185
e LT it 1 269, 645 | 3v7)-MHEXEYTUE L 10 m3
MRS BhkE T
/) ) -MEEEUE L 10 m3
ERApIEEY) FAE T ;
ERZE IR 10 m
TAT7 W MEZERR 15emPL T
EhAE AR AR 100 m2
TAT7h MEREERR EHAERUE 15emPL T
TR AL T = 1 218,540 | kiR 10 m3
av ) -bik (BERR)
o 1 10 m3
/) -hik Bk
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TAT 7V
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